B IR S K Eak

(HE S %)
GEECES ! A1 23 A
A b o PR T L T 5 9K M1 S
fiit Wie
S EAUER 6)
S 7C
7K 13°C
= FAVINES 2,6m
TR 1,8m
ik —
T\, TR AR Tm,/J],
B GERLEE) 1,5m

BiE=R=VNHTH

13:50~14:40(50%%)




B

HERHIEICRIT D7~ ORI 5 A5 &k & L5 & S,

AL E B ORI TR 100mD T A V2R E L, bmE vy F T 1 m O
NICHEIT 27 v EOHFH L REmE2diE Lz, FIEHMNSR)

PFEEFEM LI Z A, T~EFIL 5c mBEEOHENRED LILLRET, FiZiX 10cm
FREEIC ELZbOH 2T,

5 HDTA VHTHEOERTIE 1 b2 100 ARERENSHLTNDEZAEHoT, L
2L, AEIOMETIL I mMNIZ 1I~4 ROJHTHY |, Dirhoile, TOHRVWIRREITE
A HIPAIE TEE L TR Y . FRTR S BLT DML 7 A ST Ao o7z,
F7/- A RKEMR LT 40m L 5bmMS DT ~E1X 5 HHAER THLOMMA L WM TH - 72,

WIROHEEKIIT TV BN —HEE-> TS, TEIEXZORNEHEEH L TWVEA,
INBIERELTHM L, BRI NI o7, B, SmHEAOT v EICREDOR
BINTIREED & DO AR BT,

& T AL 100m

129

BEAAR AL Om

A7 A~ (100m)



HBRIIRB AT ~ETA

() BT 5 HMAERO b0

HERER (R6,1,23)

Hif(m) | 2FOR) | AEEEECR) | (R (em) e
0 0 (0) 0 (0) — (=) (5 A—Zh & v EIcT ~BIZRALRAR)
5 1 (1) 0 (2) 5 (70) |1 H—REEFEOWEEHY
10 5 (6) 0 (0) 5 (50)
15 1 (4) 0 (0) 5 (50) (64— &V FMEEIZ oA )
20 0 (42) 0 (4) 5 (70)
25 2 (43) 0 (6) 5 (70)
30 1 (16) 0 (1) 5 (70)
35 2 (74) 0 (12) 5 (70)
40 4 (88) 0 (16) 10 (80)
45 0 (69) 0 (18) 5 (80)
50 1 (27 0 (3) 5 (70)
55 4 (86) 0 (9) 5 (80)
60 2 (101) 0 (12) 15 (80) (56 A — I3 IEE I AN A 2\ )
65 1 (93) 0 (14) 3 (80)
70 1 (59) 0 (8 5 (80)
75 2 (33) 0 (4) 5 (70)
80 1 (66) 0 (10) 5 (70)
85 2 (65) 0 (13) 5 (80)
90 1 (50) 0 (13) 5 (80)
95 0 (56) 0 (6) — (80)
100 2 (58) 0 (6) 5 (80)




100m H# S DAEF-

85m Hh i AEFE DR T 85m i D

80m Hh i 80m Hh i



70m HE N7~

65 m H1 s EE DRI ERRKNBDHEH D

60mH KT NWT < E U CBET 5 50m Hi s



35mHiS KN T~ 30m Hit 5

25m Hit 5 15m #i A

10m Hi 5, Sm# S EED A FEMEH U



